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L. (40%)sFAFHE 31 F50):
(1) K28 (Random Variable)
(2) FUE {RB(Coefficient of Determination)
(3) HXM:(Efficiency)
(4) B/INE Ji¥k(Least Square)

x o+ BAsK:
(1) x AR TR
QP =x=4)=?
3)P(1 <x<4)=7?

3. (10%)RcH = (MBI REBREL x1 %2 x3» HASRBIY IR v(x1)=2" v(x2)=5 -
v(x3)=4 » G (x 1 -x ) (x24+x )RR p -

4. (20%)ANIY A REREYL 13 Q8 - SRR 1100 /NRF o ARHEZE 45 /NKF © B i
K 10 ] » SLASIIRG AR 1040 /INKE - BEHERE 16 /]NKf © Llo=0.05 FREHHE 7K
He - IR A RIS A R AT B R TRES AR MG B B RV -
F(0.975 5 12, 9)=3.87 : 1(0.95,16)=1.746




